Run 3282, anodes @ 1250V, 2239 events, 22264 hits, 2167 tracks
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Run 3282, anodes @ 1250V, 2239 events, 22264 hits, 2167 tracks
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Run 3282, anodes @ 1250V, 2239 events, 22264 hits, 2167 tracks

Time bin efficiency T2
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Run 3282, anodes @ 1250V, 2239 events, 22264 hits, 2167 tracks
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T2: Integrated cluster charge vs. drift distance
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T2: Cluster max ADC vs. drift distance
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T2: Squared cluster width in pad direction vs. drift distance
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Run 3282, anodes @ 1250V, 2239 events, 22264 hits, 2163 tracks
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Run 3282, anodes

@ 1250V, 2239 events, 22264 hits, 2163 tracks
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Run 3282, anodes @ 1250V, 2239 events, 22264 hits, 2163 tracks
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